PWM3 half duty/A =

o PWM3DUTY=2
o TMR3=4

PWMJE

Inst clock

Duty’ A X=PWM3DUTY+0.5(half duty)/ TMR3+1

=( 2+0.5)/( 4+1)

=2.5/5=50% : .
T3CR2 (Timer3 Control Register2)
Name | SFRType | Addr. | Bit? Bité Bit5 | Bit4 | Bit3 | Bit2 | Bit! | Bit0
T3CR2 ) (x12 PWM3D_1 J TACS | T3CE | /PS3EN PS3SEL[2:0)
RMW Property W RW | RW | RW [RW |RW | RW
Initial Value X 0 1 1 1 1 1 1
T3CR1 (Timer3 Control Register1) /
Name f‘;p': Addr. | Bit7 Bit6 | Bits |Bita | Bit3 | Bitz | Bitt | Bito
T3SCR1| S | Oxit pwmaoy{q PWM3OAL Tc')ﬂES TM3_HRC T30S | T3RL | T3EN
R Property Ry rw |[Rw | - [ rw [ RW [ rW [ RW
Inital Value J) 0 0 | x 0 0o o] o

PWM3D_1: If TM3_HRC=0, PWM3D_1 is no use.
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If TM3_HRC=1, PWM3D_1 =1, PWM3DUTY extend to half Tim

erd clock.

If TM3_HRC=1, PWM3D_1 =0, PWM3DUTY keep original.

PWM3DUTY # B E|Timer3 Bj&hH)—3F




PWM3 half dutyj: = 5517
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org BxB2a0
lgoto Main
ORG exele T3CR2 (Timer3 Control Register2)

------------------------------------------------ Name SFR Type | Addr. BitT Bit6 Bit5 Bit4 Bit3 Bit2 ‘ Bit1 | Bit0
movia  @xFF T3CR2 S ox12 - |pwmap_1] Tacs | T3cE | /PS3EN PS3SEL[2:0]
IOST APHCON

RW Property - W RW RW R RW | RW R
MOVIA 828 ; Bxe8 Initial Value X 0 1 1 1 1 1
I0ST I05TE
MOVIA 8xaa 3 BxFB
I0ST I0STA
TM3RH (Timer3 High Byte Register)
movia Bxd s
sfun Name SFR Type | Addr. | Bit7 | Bité Bit5 Bit4 Bit3 | Bit2 Bit1 Bit0
ia ©x89 s TMR3_ba-8 is

e O DR el TM3RH R oxic | - TMR39 | TMR38 | - - | Pwm3De | PWM3DS
movia % R/W Property - RAW RW - - RW RW
sfun | PRM3DUTY ; a Initial Value - - X X - - X X
movia BxB4 ;load timer @xFF
sfun TMR3
movia @x8b
sfun T3CR1 PWM3DUTY (PWM3 Duty Register)

Name SFRType | Addr. | Bit7 | Bit6 | Bit5 | Bit4 | Bit3 | Bit2 | Bit1 | Bit0
CLRWDT PWM3DUTY S Ox13 PWM3DUTYT[7:0]
lgoto loop R/ Property w

Initial Value HOOKKXHEAX

end
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PWM3 half dutyj = 517

o IEHMMHT, PWMduty /M F2FTMR 18

@ PWM Duty > TMR % oA 1IF 45

° WEPWM3D 1=1, PWMDuty=1, TMR=0 (A
EVAITE L) l

movia Bxe1
sfun PWMIDUTY
movia Bx88
sfun TMR2
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